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No. |[BHES| H% K4 kTN #IRTTH BEHK
1 21 £ BN Y& EFRE 2] 2,377.000
2 3 = 2 KT EFTE 2] 2,126.000
3 32 = Babh Lo EFTE 2] 2,106.000
4 26 = BEE B EFTE 2] 2,012.000
5 31 E I &< BAREER i) 1,883.000
6 33 Y EWSH BBE EFTE 2] 1,825.000
7 15 = g Fx3 EFTE 2] 1,625.020
8 23 £ wig L LhHT BHEER i) 1,611.979
9 14 Y WeS i EFTE 2] 1,552.000
10 24 £ —ih #=HL NZE i) 1,472.000
11 29 Y BE 7hED BB ] 1,410.000
12 8 = KE wEOCZ NZL i) 1,401.000
13 17 Y Bl w5 ub BB ] 1,399.000
14 30 = 5o0H% B BB ] 1,399.000
15 11 £ MNE LIFE BB ] 1,281.000
16 6 £ b KB EFRE ] 1,234.000
17 4 E e &Y NZL) # 1,224.000
18 12 £ Wi & VERER i) 1,189.000
19 28 Y B VAL ERE # 1,158.000
20 1 Y RE T3hE BB ] 1,110.598
21 20 = A VAL BB i) 1,053.000
22 2 = B osvA ERTE ) 1,008.000
23 5 E BE &7 BB 17} 997.000
24 16 Y <FH fhr0B BB i) 943.000
25 18 Y IWROOTE BB # 938.000
26 25 = g B%E BB i) 914.000
27 10 = 5&b A HALER i) 906.000
28 27 E HE WIS EATE Ed 892.586
29 13 £ hE % BB # 795.413
30 22 £ BRIE  Lifhd BB # 643.401
31 19 & E 242 BB i) 577.000
32 9 -3 KA L L& VERER i) 531.000
33 7 % | L BB # 379.000
34 34 & FIR g EFTE # 118.000
BEHRHKO 42,090.997

BAUETED 0.003

WIFNIZEEBLAEVWER 0

BIREHGD=-0+2+® 42,091

EMREHE 533

BEHRHO=0+® 42,624

BRY - zo® 0

REEHO®=-0+@ 42,624

EEBEHR 350.758
23R5484)
=TI EBAZH (%) 643.401Z
BTIUHEEAERGDEEZE 66.401E&




